Manuals+ — User Manuals Simplified.

Altronix T2ZK7F8 8 Door Kit with Fused Outputs Installation
Guide

A

Home » Altronix » Altronix T2ZK7F8 8 Door Kit with Fused Outputs Installation Guide -

Contents
1 Altronix T2ZK7F8 8 Door Kit with Fused
Outputs
1.1 Features:
2 Documents / Resources
2.1 References
3 Related Posts

] Altronix

Altronix T2ZK7F8 8 Door Kit with Fused Outputs

Access & Power Integration
Altronix/ZKTeco Kits
Models Include:

T2ZK7F8

Door Kit with Fused Outputs


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/altronix
https://manuals.plus/altronix/t2zk7f8-8-door-kit-with-fused-outputs-manual.pdf

Fully assembled kit includes:

« Trove2 enclosure with TZ2 Altronix/ZKTeco backplane
« One (1) eFlow104NB — Power Supply/Charger

« One (1) ACM8 — Access Power Controller

« One (1) VR6 — Voltage Regulator

e One (1) PDS8 — Dual Input Fused Power Distribution Module

T2ZK7F16
16 Door Kit with Fused Outputs
Fully assembled kit includes:

Trove2 enclosure with TZ2 Altronix/ZKTeco backplane
One (1) eFlow104NB — Power Supply/Charger
o Two (2) ACM8 — Access Power Controllers
One (1) VR6 — Voltage Regulator
e One (1) PDS8 — Dual Input Fused Power Distribution Module

(1
(1

All components of this Trove kit are UL Listed sub-assemblies. Please refer to the included corresponding Sub-
Assembly Installation Guides for further information.

Installation Guide

All registered trademarks are property of their respective owners.

Rev. TZK_041019

Installing Company: Service Rep. Name:

Address: Phone #:

Overview:

Altronix T2ZK7F8 and T2ZK7F16 Trove ZKTeco Kits are pre-assembled and consist of Trove
enclosures/backplanes with factory installed Altronix power supply/chargers and sub-assemblies. T2ZK7F8
accommodates up to two (2) ZKTeco modules for up to eight (8) doors in a single enclosure. T2ZK7F16
accommodates up to four (4) ZKTeco modules for up to sixteen (16) doors in a single enclosure.
Configuration Chart:

a

= = & S
Z|@ £|& F| Current for Main and Voltage P | B E| B £| &
Ne| >8> L 3 -] §|_E| F| «
ZEe=(52 Aux. Outputs on [DC] [Aux] Gl = T Ef Eg|eS ey
8%-528 = | Power Supply board =5 = SB|SZ| =8|s2
23| Z|T z| andACM8Access | Output | Output | 3’22 |SE|0C |02 O Dy
Altronix = ES|25| 2| PowerControllers’ | Range Range ~SE SEZE 5885 88
Model Number |N |2 E|& & outputs (VDC) we) | £55|2S|SE|IS|RERS
T2ZK7F8 6.3A/| 154/  24VDC @9.7A 8 10A/ | 2.5A/ | 10A/ | 3A/
e 45 |osov| 3V | pavnc@oan | 2172842028264 1 8 |,oy 5oty | aov | sy

Installation Instructions:
Wiring methods shall be in accordance with the National Electrical Code/NFPA 70/ANSI, and with all local codes
and authorities having jurisdiction. Product is intended for indoor use only.

1. Remove backplane from enclosure. Do not discard hardware.



2. Mark and predrill holes in the wall to line up with the top two/three keyholes in the enclosure. Install two/three
upper fasteners and screws in the wall with the screw heads protruding. Place the enclosure’s upper keyholes
over the two/three upper screws; level and secure. Mark the position of the lower three holes. Remove the
enclosure. Drill the lower holes and install the three fasteners. Place the enclosure’s upper keyholes over the
two/three upper screws. Install the three lower screws and make sure to tighten all screws.

3. Mount included UL Listed tamper switch (Altronix Model TS112 or equivalent) in desired location, opposite
hinge. Slide the tamper switch bracket onto the edge of the enclosure
approximately 2” from the right side (Fig. 1, pg. 2). Connect tamper switch wiring to the Access Control Panel
input or the appropriate UL Listed reporting device. To activate alarm signal open the door of the enclosure.
Enclosure

4. Mount ZKTeco modules to backplane, refer to pages 3 — 6.

5. Refer to the eFlow Power Supply/Charger Installation Guide for eFlow104NB and corresponding Sub-
Assembly Installation Guides for ACM8, PDS8 and VR®6 for further installation instructions.

Hardware:

« Nylon Spacer |
« 5/16” Pan Head Screw |
e Lock Nut

Fig. 1

Enclosure

nclosure
Edgeof _» _
\

Tamper Swﬂch
(included)

To Access Control Panel or
UL Listed Reporting Device

T2ZK7F8: Configuration of ZKTeco inBio Modules:

1. Fasten DIN Rail (provided by ZKTeco) to poem spacers, utilizing 5/16” pan head screws (included) (Fig. 2, pg.
3).
2. Mount ZKTeco modules to DIN Rail (refer to below chart for model number, Fig. 2, pg. 3).

3. Fasten TZ2 backplane to Trove2 enclosure utilizing lock nuts (provided by Altronix).
ZKTeco Model Pem Mounting

inBio-160, inBio-160 Pro, inBio-260, inBio-260 Pro, inBio-460, inBio-460 Pro



) L&) 8 N\8
®

[ AT £ T O TS L0 O O 0T O O

i A

®

S S T SR AT AT S SR Ol S o]

5 1

=Rergia] SR ferRisg =t AR R0

i. L] .I é)

[ ] [ ] > emo o ey o oD O O o o ol o o

8- [8] - b

T2ZK7F8: Configuration of ZKTeco C3 Modules:

1. Fasten spacers (provided) to pems that match the hole pattern for ZKTeco boards. Refer to below chart for
model number and Fig. 3, pg. 4.
2. Mount ZKTeco boards to spacers utilizing 5/16” pan head screws (included) (Fig. 3a, pg. 4).

3. Fasten TZ2 backplane to Trove2 enclosure utilizing lock nuts (included).

ZKTeco Model Pem Mounting

C3-400, C3-400 Pro
C3-100, C3-100 Pro, C3-200, C3-200 Pro



lm !!E]:'
= el il =,

s Aironix WG is maunted under PDSB | =

— O O S
O —06— —6— —0—

ZKTeco

Pan Head C3100/200/400  Backplane
Screw

Trove ZKTeco Kits Installation Guide

T2ZK7F16: Configuration of ZKTeco inBio Modules:

1. Fasten DIN Rail (provided by ZKTeco) to pem spacers, utilizing 5/16” pan head screws (included) (Fig. 4, pg.
5).
2. Mount ZKTeco modules to DIN Rail (refer to below chart for model number, Fig. 4, pg. 5).

3. Fasten TZ2 backplane to Trove2 enclosure utilizing lock nuts (provided by Altronix).

ZKTeco Model Pem Mounting

inBio-160, inBio-160 Pro, inBio-260, inBio-260 Pro, inBio-460, inBio-460 Pro



) L8] 4
a ﬁkié

m; = T3 £ BT S AT 4T I O 0T O 2 o

(e

o R . O

| T =1 ¢

EE " E
o 5 2 ST ST R O SR SN S OB S o

0 0 0 0 00 9 a
® tromix - ACME «

e v e S e e
e
L] L]
.
L] - e
o ESETE , o é
™ ™ B " l ________________________________________________ -4
g&&&‘g&g Do armio oo Ul oo =
o 0o o o%" @ a
o] = Aionix-ACME o .
==========================ﬁ---
T g

] by oo oo i o D 0D o T o ol o o

'lﬂldn’u A lﬁ.l
oo b

I [8] - b

T2ZK7F16: Configuration of ZKTeco C3 Modules:

1. Fasten spacers (provided) to pems that match the hole pattern for ZKTeco boards. (refer to below chart for
model number, Fig. 5, pg. 6).
2. Mount ZKTeco boards to spacers utilizing 5/16” pan head screws (included) (Fig. 5a, pg. 6).

3. Fasten TZ2 backplane to Trove2 enclosure utilizing lock nuts (included).

ZKTeco Model Pem Mounting

C3-400, C3-400 Pro
C3-100, C3-100 Pro, C3-200, C3-200 Pro



& 5 =0
g f]
-_- el . . .
Bhsss |

ZKTeco

Pan Head C3100/200/400  Backplane
Screw

Trove ZKTeco Kits Installation Guide

Flow Power Supply/Chargers can be Controlled and Monitored while Reporting Power/Diagnostics from
Anywhere over the Network...

LINQ2 - Network Communication Module

LINQ2 provides remote IP access to real-time data from fellow power supply/chargers to help keep systems up
and running at optimal levels. It facilitates fast and easy installation and set-up, minimizes system downtime, and
eliminates unnecessary service calls, which helps reduce Total Cost of Ownership (TCO) — as well as creat-ing a
new source of Recurring Monthly Revenue (RMR).



Ao i \
ANANE

Features:

« UL Listed in the U.S. and Canada.

« Local or remote control of up to (2) two Altronix eFlow power output(s) via LAN and/or WAN.

« Monitor real time diagnostics: DC output voltage, output current, AC & battery status/service, input trigger state
change, output state change and unit temperature.

« Access control and user management: Restrict read/write, Restrict users to specific resources

« Two (2) integral network controlled Form “C” Relays.

« Three (3) programmable input triggers: Control relays and power supplies via external hardware sources.

« Email and Windows Dashboard notifications

« Event log tracks history.

« Secure Socket Layer (SSL).

« Programmable via USB or web browser — includes operating software and 6 ft. USB cable.

LINQ2 Mounts Inside any Trove Enclosure

A LINQ2 Module
\

)
Network Connection:
> Installation, Programming
Q and Monitoring
L ®

Altronix eFlow
Power Supply

//_*_“ﬁ\

Enclosure Dimensions (H x W x D):
27.25" x 21.75” x 6.5” (692.2mm x 552.5mm x 165.1mm)



Enclosure Dimensions HxWx D}
27.25" x 21.75" x 65" (692 2mm x 552.5mm x 165.1mm)

— 1 (SR ]
PR (e §.25" {11, 36mmj—p 1518 B+ 1.5° B By 25° (130 35 NP O
] P |
e L7 132 E
31 B} 0.5625" (14 dnm) S
=
15 |
: {381 o)
—6.25" (1 B Bnm)—— 105 (508 Smin|

-—-1-125'(31»\!“!!'0 B

é l-a; s ¥ S 2o

o

e

e
675" 171.5mm|

©
QO

E

B L

i = 8

.g..:.g- E . . |:| E

oo s

$ Fant
. 4 W

E

&

=

(="

B

$ H 085" 21 B {}
f . ¥ L+ 200" (50 B
T |
100" 25 dmn 125" (1 S| ——
125" (1 B
o |
A"
© 32 ©
LI 525" (12 4 700 (177 B} ——— 6. 5" (134 £00" R I

Altronix is not responsible for any typographical errors.

140 58th Street, Brooklyn, New York

11220 USA

phone: 718-567-8181

fax: 718-567-9056

website: www.altronix.com

e-mail: info@altronix.com
Lifetime Warranty IITrove ZKTeco Kits

Documents / Resources

Altronix T2ZK7F8 8 Door Kit with Fused Outputs [pdf] Installation Guide
T2ZK7F8 8 Door Kit with Fused Outputs, T2ZK7F8, 8 Door Kit with Fused Outputs, Fused Outp

uts

References

« B Altronix Home


http://www.altronix.com
mailto:info@altronix.com
https://manuals.plus/m/212641d293f953073e2b298dd426e27ecb08392daf95af03f8a13aac5aaadf49
https://manuals.plus/m/212641d293f953073e2b298dd426e27ecb08392daf95af03f8a13aac5aaadf49_optim.pdf
http://www.altronix.com

Manuals+,


https://manuals.plus/

	Altronix T2ZK7F8 8 Door Kit with Fused Outputs Installation Guide
	Altronix T2ZK7F8 8 Door Kit with Fused Outputs
	Features:

	Documents / Resources
	References



